

ABC Bid Data

STATEWIDE DURABLES 2024

44755

X-A005(567)

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER:	STATEWIDE DURABLES 2024 44755 X-A005(567)	Awarded To:	K5 CORPORATION 9 ROCKVIEW WAY ROCKLAND, MA 02370		
DATE BIDS OPEN:	June 13, 2024, 2:00				
SCOPE OF WORK:	Durable pavement markings	Amount:	\$1,554,500.25	Certified by:	WILLIAM.J.OLDENBURG
COMPLETION DATE:	July 25, 2025	Award Date:			Director of Project Development
LOCATION:	Grafton, Merrimack, District 1, Hillsborough, District 3, District 5, District 4				

Summary of Bidders

Contractor	Bid Amount	Rank
K5 CORPORATION	\$1,554,500.25	А
9 ROCKVIEW WAY, ROCKLAND MA 02370		
L & D SAFETY MARKING CORP	\$1,899,914.75	В
304 EAST MONTPELIER RD, BARRE VT 05641-8373		
ROADSAFE TRAFFIC SYSTEMS INC	\$2,385,184.50	С
55 Bodwell St., AVON MA 02322		





STATEWIDE DURABLES 2024

44755

X-A005(567)

				PS&E		K5 CORPORATION 9 ROCKVIEW WAY ROCKLAND, MA 02370		L & D SAFETY MARKING CORP 304 EAST MONTPELIER RD BARRE, VT 05641-8373	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
618.7	FLAGGERS	HR	500.00	\$53.47	\$26,735.00	\$18.00	\$9,000.00	\$30.00	\$15,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$215,000.00	\$215,000.00	\$38,500.00	\$38,500.00	\$140,000.00	\$140,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$2,000.00	\$8,000.00	\$1,000.00	\$4,000.00	\$3,000.00	\$12,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$4,000.00	\$8,000.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00
632.71204	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 4" LINE	LF	245.00	\$1.60	\$392.00	\$1.45	\$355.25	\$1.55	\$379.75
632.71206	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 6" LINE	LF	666,100.00	\$1.70	\$1,132,370.00	\$1.45	\$965,845.00	\$1.65	\$1,099,065.00
632.71208	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 8" LINE	LF	240.00	\$3.60	\$864.00	\$2.00	\$480.00	\$3.00	\$720.00
632.71212	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 12" LINE	LF	31,430.00	\$3.30	\$103,719.00	\$3.00	\$94,290.00	\$4.00	\$125,720.00
692.	MOBILIZATION	U	1.00	\$243,030.00	\$243,030.00	\$13,000.00	\$13,000.00	\$75,000.00	\$75,000.00
1008.61	ALTER. AND ADD. AS NEEDED - RETROREFLECTOMETER (SALVAGE TO DEPT.)	\$	366,030.00	\$1.00	\$366,030.00	\$1.00	\$366,030.00	\$1.00	\$366,030.00
1010.15	FUEL ADJUSTMENT	\$	19,000.00	\$1.00	\$19,000.00	\$1.00	\$19,000.00	\$1.00	\$19,000.00
			Totals:		\$2,167,140.00		\$1,554,500.25		\$1,899,914.75
			Alt. Totals:						
			Totals:		\$2,167,140.00		\$1,554,500.25		\$1,899,914.75





STATEWIDE DURABLES 2024

44755

X-A005(567)

				PS&E		55 Be	NFIC SYSTEMS INC dwell St. MA 02322		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	
618.7	FLAGGERS	HR	500.00	\$53.47	\$26,735.00	\$120.00	\$60,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$215,000.00	\$215,000.00	\$45,000.00	\$45,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,000.00	\$4,000.00	\$9,000.00	\$18,000.00	
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$2,000.00	\$8,000.00	\$9,000.00	\$36,000.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$4,000.00	\$8,000.00	\$115,000.00	\$230,000.00	
632.71204	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 4" LINE	LF	245.00	\$1.60	\$392.00	\$1.90	\$465.50	
632.71206	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 6" LINE	LF	666,100.00	\$1.70	\$1,132,370.00	\$2.00	\$1,332,200.00	
632.71208	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 8" LINE	LF	240.00	\$3.60	\$864.00	\$2.00	\$480.00	
632.71212	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 12" LINE	LF	31,430.00	\$3.30	\$103,719.00	\$6.30	\$198,009.00	
692.	MOBILIZATION	U	1.00	\$243,030.00	\$243,030.00	\$40,000.00	\$40,000.00	
1008.61	ALTER. AND ADD. AS NEEDED - RETROREFLECTOMETER (SALVAGE TO DEPT.)	\$	366,030.00	\$1.00	\$366,030.00	\$1.00	\$366,030.00	
1010.15	FUEL ADJUSTMENT	\$	19,000.00	\$1.00	\$19,000.00	\$1.00	\$19,000.00	
			Totals:		\$2,167,140.00		\$2,385,184.50	
	Alt. Totals:							
Totals:					\$2,167,140.00		\$2,385,184.50	



44755

X-A005(567)

				A-Bide	der	PS		
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
618.7	FLAGGERS	HR	500.00	\$18.00	\$9,000.00	\$53.47	\$26,735.00	(\$17,735.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$38,500.00	\$38,500.00	\$215,000.00	\$215,000.00	(\$176,500.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00	(\$2,000.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$1,000.00	\$4,000.00	\$2,000.00	\$8,000.00	(\$4,000.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$1,000.00	\$2,000.00	\$4,000.00	\$8,000.00	(\$6,000.00)
632.71204	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 4" LINE	LF	245.00	\$1.45	\$355.25	\$1.60	\$392.00	(\$36.75)
632.71206	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 6" LINE	LF	666,100.00	\$1.45	\$965,845.00	\$1.70	\$1,132,370.00	(\$166,525.00)
632.71208	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 8" LINE	LF	240.00	\$2.00	\$480.00	\$3.60	\$864.00	(\$384.00)
632.71212	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 12" LINE	LF	31,430.00	\$3.00	\$94,290.00	\$3.30	\$103,719.00	(\$9,429.00)
692.	MOBILIZATION	U	1.00	\$13,000.00	\$13,000.00	\$243,030.00	\$243,030.00	(\$230,030.00)
1008.61	ALTER. AND ADD. AS NEEDED - RETROREFLECTOMETER (SALVAGE TO DEPT.)	\$	366,030.00	\$1.00	\$366,030.00	\$1.00	\$366,030.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	19,000.00	\$1.00	\$19,000.00	\$1.00	\$19,000.00	\$0.00

Total:

\$2,167,140.00